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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question

Sticky Note
This is the maximum mark for a particular question.

Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.



Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.



Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Read lines 1-7
List five things you learn about Rachel in these lines. [5]
(AO1 1aand b)

This question tests the ability to identify explicit and implicit information and
ideas.

Award one mark for each point and/or inference identified by the candidate, to a
maximum of five.

she was doing research at Durham university

she met Peter Kemp while she was researching at Durham
she had a degree in Biology from Cambridge

she does not seem keen to be near her mother

she had moved back to the north / close to her mother

she is passionate about upland birds

she had started studying black grouse

she transferred her interest to curlews and wagtails

she was trying to devise a system for counting birds

she used a cottage in Northumberland as a base

No mark should be awarded for unabridged quotation of whole sentences.
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Sticky Note

-thorough and neatly presented. 
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Sticky Note

-only four clear points.
-the third point is not accurate. 












Wrile the two digit question
number inside the boxes next Answer
to the first line of your answer

Lea
blar

¢ i d e won du'wxa o (&eaew (ZP(O_\.«) o Q
pat bk\\\lm\\ﬁ 2
~ S\ ax @ defy VA %1,0\(1\3 W Comocdqe
3
- 3‘\( SOV LY O Cay P:”.QL—: C (om V“Q’( MENACT
o>  ®BVY'e  coula

1= dwe «zﬁ‘:ﬂcd\ e "Jo(m\s of ™Me  nottnen  Wills . L

lear

Mark: 4



Sticky Note

-clear
-''self-limiting'' response (only 4 points made)












Read lines 1-7.

List five things you learn about Rachel in these lines. [5]





1

Rachel was doing a research project at Durham University when she first met Peter Kemp.
She had taken her degree in Biology in Cambridge, almost as far away from her mother as
she could manage, but then she moved back to the north. This was not to be close to her
mother but because the birds of the northern hills had become her passion. She started by
studying black grouse then transferred her interest to upland birds like curlew and wagtail. Her
research project was to find a way to count them accurately and she used a cottage on the
moors of Northumberland as her base for her studies.
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Read lines 8-18
What impressions does the writer create of the White Hart in these lines?

You must refer to the language used in the text to support your answer,
using relevant subject terminology where appropriate. [5]

(AO2 1a, ¢, and d)

This question tests the ability to explain, comment on and analyse how writers
use language to achieve effects and influence readers, using relevant subject
terminology where appropriate.

Give 0 marks for responses where there is nothing worthy of credit.
Give 1 mark to those who make a very limited response.

Give 2 marks to those who identify some straightforward impressions of the hotel.
Subject terminology may be used.

Give 3 marks to those who give some impressions of the hotel and use a range
of evidence and language choice to support their answers. These responses may
identify some relevant subject terminology, where appropriate.

Give 4 marks to those who give accurate impressions of the hotel and use a
thorough range of evidence and language choice to support their answers. These
answers may use relevant subject terminology, where appropriate.

Give 5 marks to those who make accurate and perceptive comments about the
hotel and use a well-chosen range of evidence and language choice to support
their answers. Subject terminology is used effectively, where appropriate.

Details candidates may explore or comment on could be:

an imposing building (solid, stone-built)

it has a prominent location on the main street

it had once been ‘the only place’ to eat in the town (former glory)
it had become ‘shabby’ (fading grandeur)

it was full of underage drinkers on a Friday night

it could be rowdy with minor ‘skirmishes’ which brought the police
it has an atmosphere of ‘genteel decay’ during the week

it is old-fashioned’ (elderly waitresses in black and white uniforms)
the food is ‘traditional’ (overcooked vegetables, thick gravy and a panic about
Rachel’s vegetarianism)

e the food is not good

This is not a checklist and the question must be marked in levels of response.
Look for and reward valid alternatives.
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Sticky Note

-limited coverage/ some imprecision. 
-needs more range of impressions and more accuracy.
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Sticky Note

-coherent. 
-a range of well supported impressions. 
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Sticky Note

-some range and understanding. 
-needs more precision and more impressions.
 










Read lines 8—18.

What impressions does the writer create of the White Hart in these lines? [5]

You must refer to the language used in the text to support your answer, using relevant
subject terminology where appropriate.





10

15

It was a windy day in April and Rachel had come into the town of Kimmerston to have lunch
at the White Hart at the request of Bob Hewlett who worked as a Conservation Officer for
English Nature, a government agency.

The White Hart was a solid, stone-built hotel on Kimmerston’s main street. Once, it had
been the only place to eat in the town but it had grown shabby. On Friday nights it was a haunt
for underage drinkers. Often it became rowdy, with petty skirmishes and visits by the police.
During the rest of the week there was an air of genteel decay. The elderly waitresses, in their
black and white uniforms, had few people to serve, even on market day when the town was
busy. The food was proudly ‘traditional’ in that the vegetables were overcooked and thick
brown gravy was served with everything. When Rachel explained that she was a vegetarian,
there was something of a crisis. Eventually a leathery cheese omelette appeared.
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Read lines 19-34

What sort of man is Bob Hewlett? How does the writer show what sort of
man he is?

You must refer to the language used in the text to support your answer,
using relevant subject terminology where appropriate. [10]

(AO2 1a, ¢, and d)

This question tests the ability to explain, comment on and analyse how writers
use language to achieve effects and influence readers, using relevant subject
terminology where appropriate.

Give 0 marks for responses where there is nothing worthy of credit.

Give 1-2 marks to those who identify and begin to comment on some aspects of
the character.

Give 3-4 marks to those who identify and give straightforward comments on the
character. These answers may simply identify some relevant subject terminology.

Give 5-6 marks to those who have a good grasp of the character and begin to
show some understanding of how aspects such as language are used to achieve
effects and influence the reader. These responses may begin to use relevant
subject terminology accurately to support their comments, where appropriate.

Give 7-8 marks to those who make accurate comments about the character and
begin to analyse how language is used to achieve effects and influence the
reader. Relevant subject terminology is used accurately to support comments
effectively, where appropriate.

Give 9-10 marks to those who make accurate and perceptive comments about
the character and also provide detailed analysis of how language is used to
achieve effects and influence the reader. Subtleties of the writer’s technique are
explored in relation to how the reader is influenced. Well-considered, accurate
use of relevant subject terminology supports comments effectively, where
appropriate.





Details candidates may explore or comment on could be:

he is not universally liked (Rachel had met him and did not like him)

he seems to take advantage/to use people (Rachel thinks he is using her to
get data on the cheap)

he is close to the local farmers/wants to be accepted (Rachel thinks he is ‘too’
close and ‘too’ desperate to be accepted)

he may not do his job properly (too close to the locals)

he wants to be part of the local community (lives locally)

he acts the role of the ‘country landowner’ (Range Rover with the Labradors
in the back)

he seems sociable (drinks with the local farmers but Rachel’s tone is cynical
— ‘all friends together’)

he has some influence and power (Rachel knows it would be unwise to offend
him)

he ‘beams’ at Rachel as he mentions Peter Kemp (apparently friendly and
well-intentioned but a hint of insincerity)

he is irresponsible in drinking and driving

he is high-handed

he is patronising

his attentions are not always welcome

the writer uses his actions but also Rachel’s thoughts and reactions

This is not a checklist and the question must be marked in levels of response.
Look for and reward valid alternatives.
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Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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Sticky Note

-mostly coherent response.
-some range of valid impressions. 
-not entirely secure. 
-needs more precision/ depth of understanding. 
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Sticky Note

-perceptive/ detailed impressions. 
-very coherent/ cohesive. 
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Sticky Note

-inferences not secure/ convincing. 
-limited understanding. 
-needs to link textual evidence to comments more successfully and precisely.











Read lines 19-34.

What sort of man is Bob Hewlett? How does the writer show what sort of man he is?
[10]

You must refer to the language used in the text to support your answer, using relevant
subject terminology where appropriate.





20

25

30

Rachel had come across Bob before and didn’t like him much. She thought he wanted
to use her work for his own advantage and she also felt that he was too close to the local
farmers, too desperate to be accepted by them, rather than do his job properly. He lived
locally and drove a Land Rover with a couple of labradors in the back, looking very much the
country landowner. She had seen him drinking in the pub with the local farmers, all friends
together. However, she knew better than to offend him — she might want to work for English
Nature one day. When he invited her to lunch at the White Hart to discuss her work, she
accepted graciously.

‘'ve invited Peter Kemp to join us later, Bob said suddenly as the food arrived. ‘He’s doing
the same sort of work as you for the Wildlife Trust. You might be able to help each other.
As he mentioned Peter Kemp, Bob beamed at her across the table. Despite the Land Rover
parked outside, he had had a couple of whiskies while they were waiting to order and then
a pint of beer to wash down the meal. Rachel was irritated by Bob’s interference in her work
and was certain she would dislike Peter Kemp. She needed no help with her work. Her mother
would have dealt sharply with Bob’s patronising attitude but Rachel always found it hard to be
assertive without being rude.
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Read lines 35-61
How does the writer present the character of Peter Kemp in these lines?

You should consider:
o what Peter Kemp says and does in these lines
o the writer’s use of language and structure

You must refer to the language and structure used in the text to support
your answer, using relevant subject terminology where appropriate. [10]

(AO2 1a, b, cand d)

This question tests the ability to explain, comment on and analyse how writers
use language and structure to achieve effects and influence readers, using
relevant subject terminology where appropriate.

Give 0 marks for responses where there is nothing worthy of credit.

Give 1-2 marks to those who identify and begin to comment on some aspects of
the character.

Give 3-4 marks to those who identify and give straightforward comments on
some features of the character. These answers may simply identify some
relevant subject terminology.

Give 5-6 marks to those who explore the character in some detail and begin to
show some understanding of how aspects such as language and the organisation
of events are used to achieve effects and influence the reader. These responses
may begin to use relevant subject terminology accurately to support their
comments, where appropriate.

Give 7-8 marks to those who explore the character with some detail and insight
and begin to analyse how language and the organisation of events are used to
achieve effects and influence the reader. Relevant subject terminology is used

accurately to support comments effectively, where appropriate.

Give 9-10 marks to those who make accurate and perceptive comments about
the character and provide detailed analysis of how language and the organisation
of events are used to achieve effects and influence the reader. Subtleties of the
writer’'s technique are explored in relation to how the reader is influenced. Well-
considered, accurate use of relevant subject terminology supports comments
effectively, where appropriate.





Details candidates may explore or comment on could be:

he seems attractive (he gives the waitress a ‘lovely smile’ and he ‘smiles
charmingly’ as he approaches Bob and Rachel)

he has self-confidence

he is polite (shakes hands with Bob) / formal

he immediately compliments Rachel (earnest but clearly trying to please)
he is a flatterer (Rachel knows she is being ‘worked on’)

he is hard to resist (he gets an invitation to the cottage)

he is manipulative (Rachel knows he wants something)

she “submits” to his flattery and charm

he gets what he wants, including Rachel’s ‘passion’ for him

it is described as having the “intensity” of an “adolescent crush”

he uses his charm to try to win over Rachel's mother but it seems forced and
false (trying too hard and insincere)

Rachels mother ‘glared’ / was hostile

he is ‘showy’ (perhaps shallow and untrustworthy)

he is a romantic (flowers and champagne/dancing on the lawn)

he is irresistible (makes a fuss of Rachel and she makes ‘secret plans’)
the writer uses action and some dialogue

the writer uses the reactions of Rachel and her mother

This is not a checklist and the question must be marked in levels of response.
Look for and reward valid alternatives.
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Sticky Note

-a range of accurate inferences. 
-needs more fluency/ cohesion to move up but this shows understanding.
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Sticky Note

-perceptive and detailed.
-very coherent/ cohesive. 
-some awareness of the writer. 
-it could include some comment on the extravagantly romantic gestures but this is a very good response. 
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Sticky Note

-some understanding but limited.
-uneven. 
-needs to grasp the surface charm but also the ''insincere'' aspect of the character.
-more appropriate coverage would improve this. 










Read lines 35-61.

How does the writer present the character of Peter Kemp in these lines? [10]

You should consider:

* what Peter Kemp says and does in these lines
* the writer’s use of language and structure

You must refer to the text to support your answer, using relevant subject terminology
where appropriate.





35

40

She first saw Peter Kemp hovering in the doorway of the dining room. A waitress told him
he was too late for lunch but he gave her a lovely smile and pointed to their table. As he
walked towards them he smiled charmingly but Rachel could sense his confidence. He shook
hands with Bob then turned to her.

‘I know of you from colleagues,” he said. “You have an impressive reputation.” His voice
was earnest, trying to please. Rachel knew she was being worked on but since the smile to
the waitress, she’'d found it impossible to resist him. Even as she submitted to his flattery, she
also realised that he wanted something from her. He said he'd like to visit her study area and
compare survey methods. By the time they had shared a pot of coffee, she had invited him to
the cottage for a couple of days to watch her work.





45

50

55

60

That spring Peter spent more time at the cottage than he did in his office. His excuse was
that the Wildlife Trust intended to buy a nature reserve in the hills. Rachel knew this was
an excuse, and she was delighted. Her passion for Peter had the intensity of an adolescent
crush.

However, Rachel made the mistake of inviting him to meet her mother one Sunday. It
should have been a relaxed affair but Rachel’s mother took against Peter from the start.
She glared into her wine glass as they tried to make conversation and the more hostile she
appeared the more Peter tried to charm her. Even Rachel felt that he was trying too hard and
coming across as insincere. Later she expected a lecture about her choice in men but her
mother was unusually restrained.

‘A bit showy for my taste,” she whispered as she followed Rachel into the kitchen with a tray
of dirty plates. ‘Never trust the showy ones.’

But Rachel was captivated by the showiness and she loved the way that Peter would
appear at the cottage with flowers and champagne. They would dance on the lawn in the
evening. No one had ever made such a fuss of her before. She began to make plans, secret
plans which she wouldn’t admit to anyone, about her and Peter getting married, setting up
home together and having children.
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To answer this question you must read lines 62-80 and consider the
passage as a whole.

“The writer presents Rachel as an intelligent woman and yet she behaves
very foolishly in her relationship with Peter Kemp.”

To what extent do you agree with this statement?
You should write about:

¢ your thoughts and feelings about how the relationship between Rachel
and Peter is presented in lines 62-80 and in the passage as a whole
o how the writer has created these thoughts and feelings

You must refer to the text to support your answer.
(AO4)

This question tests the ability to evaluate texts critically and support this with
appropriate textual reference.

Give 0 marks for responses where there is nothing worthy of credit.

Give 1-2 marks to those who express a simple personal opinion with linked, basic
textual reference.

Give 3-4 marks to those who give a personal opinion supported by
straightforward textual references. These responses will show limited interaction
with the text as a whole and/or how the writer has created thoughts and feelings.

Give 5-6 marks to those who give an evaluation of the text and its effects,
supported by appropriate textual references. These responses will show some
critical awareness of the text as a whole and how the writer has created thoughts
and feelings.

Give 7-8 marks to those who give a critical evaluation of the text and its effects,
supported by well-selected textual references. These responses will show critical
awareness and clear engagement with the text. They will also explore how the
writer has created thoughts and feelings.

Give 9-10 marks to those who give a persuasive evaluation of the text and its
effects, supported by convincing, well selected examples and purposeful textual
references. These responses will show engagement and involvement, where
candidates take an overview to make accurate and perceptive comments on the
text as a whole. They will also explore how the writer has created thoughts and
feelings with insight.





Areas for possible evaluation:

Intelligent?

o Rachel is intelligent (degree from Cambridge/does research at university)

¢ she also has emotional intelligence (she knows she is being flattered and
‘worked on’/she is a fairly shrewd judge of character)

e she sees that Peter can try to please and try too hard with the charm

A fool?

her feelings are described as being like ‘an adolescent crush’

she is ‘delighted’ by his excuses to be with her

she is warned by her mother

she is ‘captivated’ and she ‘loves’ the attention and romantic gestures

she is swept away as no-one has made such a fuss of her before

she creates ‘secret plans’ which include marriage and children (gets ahead of
herself)

she allows herself to be used in his business

she is blind when the bottles of champagne disappear

she accepts any sign of affection or appreciation as meaningful

she does not resign because she would have to admit to being a fool / too proud
he never really promises anything / self-deceived

victim?
he is attractive and charming/not easy to resist
he exploits her feelings cruelly and cynically
he steals her ideas selfishly
he deceives her (the wedding invitation is out of the blue)
she is hurt by his betrayals

.....>

The key to this question is the ability to shape and sustain a coherent
stance.

This is not a checklist and the question must be marked in levels of response.
Look for and reward valid alternatives.
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Sticky Note

-mostly sensible/ coherent personal response. 
-mostly focused on foolishness and could quite easily do more with her intelligence. 










5 qrjrfe Lo Hh
bl ret et
13et¢ ol
Gooright.  Sie

a /.

Fa Secxaut
Hook 3o C?'-;j

a

C'Ld e B s | Lo leS

(e Stodterment OS
gﬁu:‘: Crick (A5 M;n
begaps e w©g Love
haciVe, Lnes B3

S Guog
hea

Ste

& Sc

[ actechk &=y o reclrlieniSE, |

s 8'13& oith i Stodemodt
a Srok Goormen ok her
ledicticly, cnafler Y EcS0n

1l adgee witta G5  Sbde pent '3 B coren Il

e s 2 'websayors' O Sk Stegear |

ot e fant St one hich olileteft “leqp L

_L-ﬂ!.r' gu ols o %L’\_ﬁt.&_ll:? I_gr .D,Ct.}::j [

Stcap A Gou Coy S€c s Calim il S S
- I
4 1

Write the two digt cuestion o
number inside the boxes next Answer

to the first line of your anewer

ban

'_ (St bebrogol Come 1 paondlS' Onet

|Seconat  bélkage| Come |a o Jotm ap o
_’(_-E.Efer‘ '&*-~5 \.ﬂ"\"—'"l:.'k}s; éf*CJ{‘ S}U? h pews & -L_Jlﬁili.gf:
] é:“‘-'t' it I"UFFW&{ Crend éﬂ-‘ Secotnaod Sls
e oo etind- Cdep it. Sk G It vt ecA  F

o WOl I
1€ aur e | (- Dife hor oo

Mark : 2




Sticky Note

-limited range. 
-limited understanding. 
-this needs more substance but some relatively easy marks could be picked up by addressing her intelligence. 
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Sticky Note

-insightful understanding.
-persuasive personal response. 
-coherent/ cohesive. 
-some omissions but this is well-argued. 










To answer this question you must read lines 62—80 and consider the passage as
a whole.

“The writer presents Rachel as an intelligent woman and yet she behaves very
foolishly in her relationship with Peter Kemp.”

To what extent do you agree with this statement? [10]
You should write about:

* your thoughts and feelings about how the relationship between Rachel and
Peter is presented in lines 62—80 and in the passage as a whole

* how the writer has created these thoughts and feelings

You must refer to the text to support your answer.
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Rachel was doing a research project at Durham University when she first met Peter Kemp.
She had taken her degree in Biology in Cambridge, almost as far away from her mother as
she could manage, but then she moved back to the north. This was not to be close to her
mother but because the birds of the northern hills had become her passion. She started by
studying black grouse then transferred her interest to upland birds like curlew and wagtail. Her
research project was to find a way to count them accurately and she used a cottage on the
moors of Northumberland as her base for her studies.

It was a windy day in April and Rachel had come into the town of Kimmerston to have lunch
at the White Hart at the request of Bob Hewlett who worked as a Conservation Officer for
English Nature, a government agency.

The White Hart was a solid, stone-built hotel on Kimmerston’s main street. Once, it had
been the only place to eat in the town but it had grown shabby. On Friday nights it was a haunt
for underage drinkers. Often it became rowdy, with petty skirmishes and visits by the police.
During the rest of the week there was an air of genteel decay. The elderly waitresses, in their
black and white uniforms, had few people to serve, even on market day when the town was
busy. The food was proudly ‘traditional’ in that the vegetables were overcooked and thick
brown gravy was served with everything. When Rachel explained that she was a vegetarian,
there was something of a crisis. Eventually a leathery cheese omelette appeared.

Rachel had come across Bob before and didn’t like him much. She thought he wanted
to use her work for his own advantage and she also felt that he was too close to the local
farmers, too desperate to be accepted by them, rather than do his job properly. He lived
locally and drove a Land Rover with a couple of labradors in the back, looking very much the
country landowner. She had seen him drinking in the pub with the local farmers, all friends
together. However, she knew better than to offend him — she might want to work for English
Nature one day. When he invited her to lunch at the White Hart to discuss her work, she
accepted graciously.

‘'ve invited Peter Kemp to join us later, Bob said suddenly as the food arrived. ‘He’s doing
the same sort of work as you for the Wildlife Trust. You might be able to help each other.’
As he mentioned Peter Kemp, Bob beamed at her across the table. Despite the Land Rover
parked outside, he had had a couple of whiskies while they were waiting to order and then
a pint of beer to wash down the meal. Rachel was irritated by Bob’s interference in her work
and was certain she would dislike Peter Kemp. She needed no help with her work. Her mother
would have dealt sharply with Bob’s patronising attitude but Rachel always found it hard to be
assertive without being rude.

She first saw Peter Kemp hovering in the doorway of the dining room. A waitress told him
he was too late for lunch but he gave her a lovely smile and pointed to their table. As he
walked towards them he smiled charmingly but Rachel could sense his confidence. He shook
hands with Bob then turned to her.

‘I know of you from colleagues, he said. “You have an impressive reputation.” His voice
was earnest, trying to please. Rachel knew she was being worked on but since the smile to
the waitress, she’d found it impossible to resist him. Even as she submitted to his flattery, she
also realised that he wanted something from her. He said he'd like to visit her study area and
compare survey methods. By the time they had shared a pot of coffee, she had invited him to
the cottage for a couple of days to watch her work.
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That spring Peter spent more time at the cottage than he did in his office. His excuse was
that the Wildlife Trust intended to buy a nature reserve in the hills. Rachel knew this was
an excuse, and she was delighted. Her passion for Peter had the intensity of an adolescent
crush.

However, Rachel made the mistake of inviting him to meet her mother one Sunday. It
should have been a relaxed affair but Rachel’s mother took against Peter from the start.
She glared into her wine glass as they tried to make conversation and the more hostile she
appeared the more Peter tried to charm her. Even Rachel felt that he was trying too hard and
coming across as insincere. Later she expected a lecture about her choice in men but her
mother was unusually restrained.

‘A bit showy for my taste,” she whispered as she followed Rachel into the kitchen with a tray
of dirty plates. ‘Never trust the showy ones.’

But Rachel was captivated by the showiness and she loved the way that Peter would
appear at the cottage with flowers and champagne. They would dance on the lawn in the
evening. No one had ever made such a fuss of her before. She began to make plans, secret
plans which she wouldn’'t admit to anyone, about her and Peter getting married, setting up
home together and having children.

The first betrayal came two months after Peter started his own consultancy firm. Rachel
went to work for him and had her own desk in the small office which was all he could afford.
She acted as receptionist, secretary and main scientist.

Now there were no bottles of champagne but she still dreamed. She understood that money
was tight. It was enough that he would occasionally brush his lips over her hair and say, ‘You
do know that | couldn’t manage without you, don’t you?’

Then she saw an article by him in a magazine. It described a new method for counting
upland birds. It was the method she had devised but he took the credit for it. He claimed it as
his own work.

The method quickly became the recommended system for upland surveys of birds. Peter
was suddenly very much in demand and work flooded into the office. Rachel continued to
work for him without making a fuss but she could no longer bear for him to touch her. She
often wondered why she didn’t confront him but it was a matter of pride. Why indeed did she
continue to work for him, supporting the business through its expansion into a smart new
office? If she resigned she would have to admit to others and to herself that he had made a
fool of her. She would have to accept that his only reason for paying attention to her was to
steal her ideas.

The second betrayal came in the form of a large envelope which she found propped on her
desk one morning. It contained an invitation to Peter’s wedding.
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there is some use of structure and grammatical

control of tense and agreement is limited

111 Choice of Creative Prose writing task — see question paper. [40]
AO5 Communication and organisation AO6 Vocabulary, sentence structure,
24 marks spelling and punctuation
16 marks
20-24 marks 14-16 marks
the writing is fully coherent and controlled (plot | e there is appropriate and effective variation of
and characterisation are developed with detail, sentence structures
originality and imagination) e virtually all sentence construction is
the writing is clearly and imaginatively controlled and accurate
organised (narrative is sophisticated and fully e arange of punctuation is used confidently
Band 5 engages the reader’s interest) and accurately
structure and grammatical features are used e virtually all spelling, including that of complex
ambitiously to give the writing cohesion and irregular words, is correct
coherence e control of tense and agreement is totally
communication is ambitious and consistently secure
conveys precise meaning e awide range of appropriate, ambitious
vocabulary is used to create effect or convey
precise meaning
15-19 marks 11-13 marks
the writing is clearly controlled and coherent e sentence structure is varied to achieve
(plot and characterisation show convincing particular effects
detail and some originality and imagination) control of sentence construction is secure
Band 4 the writing is clearly organised (narrative is a range of punctuation is usedaccurately
purposefully shaped and developed) e spelling, including that of irregular words, is
structure and grammatical features are used secure
accurately to support cohesion and coherence | ¢  control of tense and agreement is secure
communication shows some ambition and e  vocabulary is ambitious and used with
conveys precise meaning precision
10-14 marks 7-10 marks
the writing is mostly controlled and coherent e there is variety in sentence structure
(plot and characterisation show some detail control of sentence construction is mostly
and development) secure
the writing is organised (narrative has shape e arange of punctuation is used, mostly
and direction) accurately
Band 3 structure and grammatical features are used e most spelling, including that of irregular
with some accuracy to convey meaning words, is correct
communication is clear but limited in ambition e control of tense andagreement is mostly
secure
e vocabulary is beginning to develop and is
used with some precision
5-9 marks 4-6 marks
there is some control and coherence (some some variety of sentence structure
control of plot and characterisation) there is some control of sentence
there is some organisation (narrative is construction
Band 2 beginning to have some shape and some control of a range ofpunctuation
development) the spelling is usually accurate
structure and grammatical features are usedto | ¢  control of tense and agreement is generally
convey meaning secure
communication is limited but clear e there is some range of vocabulary
1-4 marks 1-3 marks
there is basic control and coherence (a basic e limited range of sentence structure
sense of plot and characterisation) e control of sentence construction is limited
there is basic organisation (paragraphs may e there is some attempt to use punctuation
Band 1 be used to show obvious divisions) e some spelling is accurate
[ ]
[ ]

features to convey meaning
communication is limited but some meaning is
conveyed

limited range of vocabulary

0 marks: nothing worthy of credit

0 marks: nothing worthy of credit






Narrative Writing Additional task-specific guidance

Good answers may be characterised by some of the following features:

Communication and Organisation (AO5)

a clear and coherent perspective (first or third person)

content is relevant

content is sustained and coherent and possibly imaginative

a clear sense of direction and structure

an evident sense of cohesion with material linked effectively

appropriate and well-selected details give substance to the narrative

details are observed closely and precisely

close observation of the behaviour and emotions of characters

convincing use of dialogue to develop plot and characterisation

some development of reflections on what is experienced or observed by the narrator
consistent awareness of the reader

establishing a relationship with the reader/engaging the reader via devices such as asides,
statements, questions, humour, a distinctive voice etc...

Vocabulary, sentence structure, spelling and punctuation (AO6)

expression is clear, fluent and controlled (the best answers will show ambition and
sophistication in expression as well as a high degree of accuracy)

there are few, if any, errors (no more than a sprinkling of mistakes)

tenses are consistent

vocabulary is used precisely and appropriately to convey meaning

punctuation is used accurately and appropriately (and unobtrusively)

Less successful answers may be characterised by some of the following features:

Communication and Organisation (AO5)

content is thin and/or brief (lacking substance and scope)

content is unconvincing and implausible in development

content has little or no relevance to title (any link is forced or tenuous)

uncertain sense of perspective (moves from first to third person or vice-versa)

insecure sense of structure/direction and uncertain or even random sequencing (for example,
an uneasy sense of chronology)

a tendency for details to be handled in isolation with limited sense of substance or cohesion
physical details described in a generalised, formulaic manner with little development
general rather than specific description of characters and a tendency to use unconvincing
stereotypes

limited or inappropriate use of dialogue

limited development of what is observed

very limited awareness of the reader

Vocabulary, sentence structure, spelling and punctuation (AO6)

expression/phrasing lacks fluency and clarity (a tendency to be awkward and limited)
errors are basic and/or numerous

tenses are inconsistent

vocabulary is limited or used inappropriately

meaning is not always clear or precise
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Mark : 7+4 = 11




Sticky Note

-some control of plot. 
-some relevant detail. 
-not entirely convincing.
-sustained but limited. 
-some clarity but uneven control. 
-errors are basic/ numerous. 
-needs more control/ accuracy in expression.
-some planning might help. 
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Sticky Note

-narrative is mostly controlled/ coherent. 
-there is decent control/ generally accurate but limited in ambition (in technical and narrative terms). 
-characterisation could be better. 
-more development / substance would help. 
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Sticky Note

-detail is convincing and well-selected. 
-the reader is fully engaged. 
-an engaging voice. 
-secure control and accuracy. 
-sentence structure is varied and controlled. 
-this is Band 5 quality with very little room for improvement. 
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Uncertain in structure.
Not convincing.

Some errors but fluent mostly.

Decent control.

7/8+8/9
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SECTION B: 40 marks

In this section you will be assessed for the quality of your creative prose writing skills.

24 marks are awarded for communication and organisation; 16 marks are awarded
for vocabulary, sentence structure, spelling and punctuation.

You should aim to write about 450—600 words.
Choose one of the following titles for your writing:
Either,

Write a story that begins:

;

That was a visit | would always remember.

o)

r,

b) The New Job.

The Birthday Party.

5B E

d) Write about a time when you felt disappointed in yourself.

The space below can be used to plan your work.

[40]
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